(Part II) Solutions Lab-session 4

1) a) SLOPE — o = 2.7849 INTERCEPT— 3 = 1.6138
b) LINEST — o = 2.7849, 3 = 1.6138, r2 = 0.9988

c)
y=27849x% + 16138
R*=09905
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Exercise 1d

*

x-values

Yes, they are more or less randomly distributed around zero and confirm therefore a linear
correlation.

2) The fit is:
Cubic fit
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Sub mean()

Fange ("al"™) .5elect

meany = 0

meany = 0

j=10

"here I assuwed that we hawve 10 rows of data, but wou can
'replace 10 and 2 by n and n-1 respectively for & set of n points
For j =0 To 9

mean® = mean® + 1/ 10 ¥ AetivecCell.Qffset(j, 0) .Value
meany = meany + 1/ 10 * ActiveCell.Qffsetij, 1).Value
Next j

Fange ("C1") .Value = meanx

Fange ("C2") .Value = neany

End Sub

Sub plottingl()

Range ("al") .Zelect

'first we cowmpute the mean wvalues of ® and v a5 in subroutine mean
'again I assuwme that I have a set of 10 points

meanx = 0

meany = 0

i =0

For j =0 To 2

meanx = meanx + 1 / 10 * ActiveCell.Offset(j, 0).Value

meany = meany + 1 / 10 * ActiveCell.Offset(j, 1).Value

Next j

'now we need to compute the three suws that appear in the definitions of the slope, intercept and
'regression coefficient

alphal = 0

alphaz = 0

alpha3 = 0

3 =0

For j =0 To 9

alphal = alphal + (LetiveCell.Qffset(j, 0).Value - meanx) ¥ [ActiveCell.Offset (], 1).Value - meany)

alphaz = alpha? + (hotiveCell.Offset(j, 0).WValue - meanx) * 2
alpha3 = alphad + (hoctiveCell.Offset(j, 1).WValue - meany) * 2
Next j

slope = alphal / alphaZ

intercept = meany - =slope * meanx

regooef = alphal / 3gr(alphaz * alpha3d)

Range ("D1™) .Value = "the slope is:™
Range ("E1™) .Valus = =slope

Range ("D2") .Value = "the intercept is:"
Range ("E2™) .Value = intercept

RBange ("D3") .Value = "the r walue is:"
Range ("E3™) .Value = regcocoef

End 3Zub



